T oo T o lo—o oo 2 THA T RE A fe

4 H 3 e
(x> — 6)(8x + 6) (4— ) (5x+ 6)
(6x° — x— 1)(6x + 3) (6x + 8)(2x* — 2x— 2)
2— Tx)(6x—5) (3x+ 9)(2x - 5)
(5x* — 2)3x—7) (4x — 1)(8%° + 9x + 9)
(6x + 3)(2x + 5) (6x° + 3)(9x + 7)
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T oo T o lo—o oo 2 THA T RE A fe

144 H 1 L
(> — 6)(8x + 6) (4— 2 (5x +6)
8x° + 6% — 48x — 36 —5x° — 6x% + 20x + 24
(6x% — x— 1)(6x + 3) (6x+ 8)(2x* — 2x — 2)
36x° + 12xX%* —9x— 3 122 + 45> — 28x — 16
(2—Tx)(6x—5) Bx+9)(2x—5)
—42x% + 47x — 10 6x> + 3x — 45
(5x> = 2)(3x—7) (4x — 1)(& + 9x + 9)
15x° — 35x% — 6x + 14 32> 4 282 +27x— 9
(6x + 3)(2x + 5) (6x% + 3)(9x + 7)
12x° + 36x + 15 54x3 + 42x% + 27x + 21
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